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Let R be the shaded region bounded by the graphs of y= \j:; and y=¢g " i
and the vertical line x = 1, as shown in the figure. ‘

Find the area of R

Find the volume of the solid generated when R is revolved about the
horizontal line y = 1.

The region R is the base of a sohid. For this solid, each cross section e — :
perpendicular fo the x-axis is a rectangle whose height is 5 fimes the ]
length of 1ts base in region R. Find the volume of this solid.

2. Consider the area enclosed by x = \/; ,x=2,and y = 0. Let y =k be the line that divides the area into two

equal parts. a) Find area of enclosed region b) Find k.

3. Let R be the region in the first quadrant bounded by the graph of y =4 — % , the x-axis, and the y-axis.

a.
b.
c.

Find the area of region R
Find the volume of the solid generated when R is rotated around the x-axis
The vertical line x = k divides the region R into two regions so that when these regions are rotated

around the x-axis, they generate solids with equal volumes. Find the value of k.




4. Consider the graph f(x) = — —Zl—x2 + 8x. A line is drawn tangent to .

the curve at x = 10. . FARERN
a. Find the equation of the tangent line in point-slope form and / \
slope-intercept form / \

b. Find the area of the region bounded by the graph f(x), the / \
tangent line, and the x-axis / %\

5. The base of a solid is the region enclosed by the curve x = 2\/)-/ and the lines x + y =0 and
y=4. Find the volume of the solid if all cross sections perpendicular to the y-axis are right isosceles
triangles having the hypotenuse with one endpoint on the line x + y = 0 and the other on the curve x = 2\/; .

Evalute the following integrals:

’ 3
In 3xdx dx
. | ;[
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Let R be the shaded region bounded by the graphs of y=+x and y=e ™ 1}

and the vertical line x = 1, as shown in the figure.

(a) Find the area of R.

(b) Find the volume of the solid generated when R is revolved about the
horizontal line y = 1.
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(c) The region R is the base of a solid. For this solid, each cross section R
perpendicular to the x-axis is a rectangle whose height 1s 5 times the
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2. Consider the a:rea enclosed by x= ‘[)7 x=2,and y=0. Let j( k be the line that divides the area into two
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a. Find the area of region R
b. Find the volume of the solid generated when R is rotated around the x-axis

c. The vertical line x = k divides the region R into two regions so that when these regions are rotated
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around the x-axis, they generate solids with equal volumes. Find the value of k.
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3. Let R be the region in the first quadrant bounded by the graph of y=4- x/ the x-axis, and the y-axis.
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4. Consider the graph f(x) = — %xz + 8x. A line is drawn tangent to h
the curve at x = 10. \
a. Find the equation of the tangent line in point-slope form and i
slope-intercept form Pa.n’b (10,36) {y=-2 (xX-10) 13U A
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b. Find the area of the region bounded by the graph f(x), the
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tangent line, and the x-axis
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5. The base of a solid is the region enclosed by the curve x = 2\/)7 and the linesx + y=0 and .
y=4. Find the volume of the solid if all cross sections perpendicular to the y-axis are right isosceles

triangles having the hypotenuse with one endpoint on the line x + y = 0 and the other on the curve x = 2\/; A
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Evalute the following integrals:
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